ergotrons

VESA Expansion Kit

for 100 x 100 interface (sold separately)

NOTE: The 100 x 100 mm Interface is sold separately and
may look different than the one shown.

NOTA: La interfaz de 100 x 100 mm se vende aparte y
puede tener un aspecto diferente al de la ilustracion.

REMARQUE : I'interface de 100 x 100 mm est vendue
séparément et peut étre différente de celle illustrée.

OPMERKING: Het 100 x 100 mm paneel wordt apart
verkocht en kan afwijken van het afgebeelde paneel.

HINWEIS: Das 100 x 100 mm Bedienfeld ist separat er-
haltlich und kann anders aussehen, als hier dargestellt.

NOTA: l'interfaccia di 100 x 100 mm ¢ venduta sepa-
ratamente e il suo aspetto puo essere diverso da quello

illustrato.
@ 100 x 100 mmDA V' Z—T 2 — A
BT, AN C OBl EIX
BEAGEa0H0 E9,
EE: 100 x 100 mm % 1
AR5 FTR AR .
400 MM B
L R
ﬂ'/
'EN| User Guide 'DE Gebruikersgids 'NL| Benutzerhandbuch
"£s| Guia del usuario Al A—Y¥—HA R "1T | Guida per l'utente
'FR| Manuel de I'utilisateur zH| AFE® 'sv Anvandarhandbok

www.ergotron.com | USA: 1-800-888-8458 | Europe: +31 (0)33-4545600 | China: 400-120-3051 | Japan: japansupport@ergotron.com

888-97-292-W-00 rev. D - 08/19



This kit converts any 100 x 100 mm Interface to a: 100 x 200 mm, 200 x 200 mm, 200 x 300 mm, 200 x 400 mm, 300 x 400mm, or 400 x 400mm Interface.
Este kit convierte cualquier interfaz de 100 x 100 mm a una interfaz de 100 x 200 mm, 200 x 200 mm, 200 x 300 mm, 200 x 400 mm, 300 x 400mm o0 400 x 400mm.
Ce kit permet de convertir les interfaces de 100 x 100 mm en interfaces de : 100 x 200 mm, 200 x 200 mm, 200 x 300, mm 200 x 400 mm, 300 x 400mm ou 400 x 400mm.

Mit diesem Erweiterungssatz wird jedes 100 x 100 mm Bedienfeld zu einem Bedienfeld in folgenden Formaten: 100 x 200 mm, 200 x 200 mm, 200 x 300 mm, 200 x 400 mm, 300 x
400 mm oder 400 x 400 mm konvertiert.

Dit pakket zet elke 100 x 100 mm interface om in een: 100 x 200 mm, 200 x 200 mm, 200 x 300 mm, 200 x 400 mm, 300 x 400 mm of 400 x 400 mm interface.
Questo kit converte qualsiasi interfaccia di 100 x 100 mm in: un'interfaccia da 100 x 200 mm, 200 x 200 mm, 200 x 300 mm, 200 x 400 mm, 300 x 400 mm o 400 x 400 mm.
Denna sats konverterar ett 100 X 100 mm granssnitt till ett 100 x 200 mm, 200 x 200 mm, 200 x 300 mm, 200 x 400 mm, 300 x 400 mm eller 400x 400 mm granssnitt.

ZOXxy bEFHTSE, 100 x 100mmD A » ¥ —7 =4 2% 100 x 200mm, 200 x 200mm, 200 x 300mm, 200 x 400mm, 300 x 400mm, 400 x 400mma A
V=7 2 ACEBRTEET,

BT 100 x 100 Z2KE O A 100 x 200 222K, 200 x 200 ZEKEK 200 x 300 Z2KEE 200 x 400 =X

_ A

10x 10x 4x

@m M8MS5 Converter

Conversor M8M5

M6 X 14mm 6mm Convertisseur M8M5
M8M5-Konverter
M8M5 Convertor
Convertitore M8M5
M8MS5 konverterare
M8Mb5H A A% %
MBMS 5Pt

6Xx

M4 x 25mm

6Xx 4x

(o D

M5 x 20mm

12mm M4 x 14mm

If your display has M8 size screw holes, use this kit to convert the M8 screw hole to M5 when attaching brackets to your display.

Si su pantalla cuenta con orificios para tornillos de tamano M8, utilice este kit para convertir el orificio M8 a M5 cuando una los soportes a su pantalla.

Si votre affichage dispose de trous pour vis M8, utilisez ce kit pour convertir le trou de vis M8 en M5 lors de la fixation des supports sur votre affichage.

Wenn Ihr Display Schraubenlécher der GroBe M8 aufweist, konnen Sie diese mit diesem Satz beim Anbringen von Halterungen zur Gro3e M5 konvertieren.

Als uw display schroefgaten heeft VAN MAAT M8, gebruik dan dit pakket om het M8-schroefgat om te zetten naar M5 als u steunen aan uw scherm vastmaakt.

Se il display presenta fori per vite di dimensioni M8, utilizzare questo kit per convertire il foro M8 in M5 quando si collegano le staffe al display.

Om din bildskarm har skruvhal i M8 format, anvand denna sats nér du ansluter fasten till din bildskérm for att konvertera M8 halen till M5.
TARTVADRYRIPMEYA ZDGh, ZOXx v b 2EMT2E, 7779 b 2T 4 A7 VA T 2B0MB8D 2 VR EMBICEMTE £,
IRER RS EA W8 T HIRZ AL, KB R Sonasny, IR T AR M8 MR LA M5 B2 4L,

—————) ax

M8 screw hole in display — M5 x 20mm
Orificios para tornillos M8 en la pantalla M8MS5 Converter
Trou de vis M8 dans I'affichage 4x Conversor M8M5
M8-Schraubenloch im Display O« Convertisseur M8M5
M8 schroefgat in scherm K M8M5-Konverter
Foro per vite M8 nel display M8MS5 Convertor
M8 skruvhal i bildskarm Convertitore M8M5
T4 ATV A DMER YN MB8MS5 konverterare
VR AN - 2N M8M5H A A% Mty

MBME e Heft ®

20of9 888-97-292-W-00 rev. D « 08/19




200 x T00mm
-

M4 x 6mm

1 200 x T00mm 100 x 200mm
4x

S)

¢ 4/;oo mm (7:9"
2 200 x 100mm 100 x 200mm
-0 -0
6x @ 6x

6mm 6mm

4x W

M4 x 6mm

12mm

888-97-292-W-00 rev. D - 08/19 30f9



200 x 200mm

1 2

?

°
2]

°

200 mm (72

4x m

M4 x 6mm

mm
100

2X

°
]

°___ .
(7.9"

oy

M4 x 6mm

D

3 6x

M6 x 14mm

ox ()

6mm

4 0of 9 888-97-292-W-00 rev. D « 08/19



T2

2 !
500 mm (72 )— >

4x W : __ 4x m

M4 x 6mm M4 x 6mm

888-97-292-W-00 rev. D « 08/19 50f9
(0)



400 x 200mm

4x W

M4 x 6mm

M4 x 6mm

10x

M6 x 14mm

© 6mm

6 0of 9 888-97-292-W-00 rev. D + 08/19



400 x 300mm

2 4x m M4 x 6mm

2X 300 mm(11.8)
o
-« - ) ©
- 0 /
O o =
i

1 4x ()

M4 x 6mm

2X 400 mm (1579 .
i —7—::': ::::: , /

888-97-292-W-00 rev. D « 08/19 70of9



400 x 400mm

1 4x 2 4x M4x6mm
«— 5

M4 x 6mm

2X 400 mmM (15.7") |
-

10x

M6 x 14mm

10x

6mm

80of9 888-97-292-W-00 rev. D + 08/19



[EN | For the latest User Installation Guide please visit: www.ergotron.com
~ For Warranty visit: www.ergotron.com/warranty

For Service visit: www.ergotron.com

For local customer care phone numbers visit: http:/contact.ergotron.com

[ ES | Para acceder a la Ultima version de la Guia de instalacion para el usuario, ingrese a www.ergotron.com
Para Garantia, visite: www.ergotron.com/warranty
Para servicio, visite: www.ergotron.com
Para conocer los numeros telefonicos locales de atencion al cliente, visite: http://contact.ergotron.com

( FR | Pour la derniére version du Guide d'installation de I'utilisateur, visitez : www.ergotron.com.
Pour la garantie, visitez: www.ergotron.com/warranty
Pour le service client, visitez: www.ergotron.com
Pour les numéros de téléphone du service client local, visitez : http:/contact.ergotron.com

(DE | Die aktuellste Anleitung fiir die Montage durch den Benutzer finden Sie hier: www.ergotron.com
"~ Fiir Garantie Besuch: www.ergotron.com/warranty

Flr Servicebesuch: www.ergotron.com

Ortliche Telefonnummern fiir den Kundendienst finden Sie hier: http://contact.ergotron.com

(JA | BHO1—%— 42 AN=)l Hi4 Rid, www.ergotron.com TIRRBWELEFET .
RITE % B < & L) www.ergotron.com/warranty
H—E A% B EE ) www.ergotron.com
BEYODNAARI—TTOEZFESICOVTH, C55%ZE< &\ http://contact.ergotron.com

(ZH £ZSFHOAFRERRS , HWHE : www.ergotron.com
FARIESM: www.ergotron.com/warranty
3 F £iTBRSS: www.ergotron.com
EFLMEFRSBIESE , FIHA : hitp:/contact.ergotron.com

[ NL | De nieuwste Gids voor installatie door de gebruiker kunt u vinden op: www.ergotron.com

Ga voor garantie naar: www.ergotron.com/warranty
Ga voor service naar: www.ergotron.com

Plaatselijke telefoonnummers voor de klantendienst kunt u vinden op: http://contact.ergotron.com

[IT | Per la versione pii recente della Guida all'installazione per I'utente, visitare il sito web: www.ergotron.com
~ Perla garanzia visitare: www.ergotron.com/warranty

Per assistenza visitare: www.ergotron.com

Per conoscere i numeri di telefono dell'assistenza clienti locale, visitare: http:/contact.ergotron.com

(SV | Fér den senaste Installationshandboken se: www.ergotron.com
For garanti, ga till: www.ergotron.com/warranty
For service, ga till: www.ergotron.com
For lokala kundtjanstnummer, ga till: http:/contact.ergotron.com

ergotron

www.ergotron.com | USA: 1-800-888-8458 | Europe: +31 (0)33-45 45600 | China: 400-120-3051 | Japan: japansupport@ergotron.com
© 2016 Ergotron, Inc. All rights reserved.

While Ergotron, Inc. makes every effort to provide accurate and complete information on the installation and use of its products, it will not be held liable for any editorial errors or omissions (including those
made in the process of translation from English to another language), or for incidental, special or consequential damages of any nature resulting from furnishing this instruction and performance of
equipment in connection with this instruction. Ergotron, Inc. reserves the right to make changes in the product design and/or product documentation without notification to its users. For the most current
product information, or to know if this document is available in languages other than those herein, please contact Ergotron. No part of this publication may be reproduced, stored in a retrieval system, or
transmitted in any form or by any means, electronic, mechanical, photocopying, recording or otherwise without the prior written consent of Ergotron, Inc, 1181 Trapp Road, Eagan, Minnesota, 55121, USA
Patents Pending and Patented U.S.& Foreign. Ergotron is a registered trademark of Ergotron, Inc.

888-97-292-W-00 rev. D « 08/19 90of 9




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Gray Gamma 2.2)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.5
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /sRGB
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo false
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo false
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Remove
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 100
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 100
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 1.30
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /ColorImageDict <<
    /QFactor 1.30
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 10
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 10
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 150
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 1.30
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /GrayImageDict <<
    /QFactor 1.30
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 10
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 10
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 300
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 300
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects true
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<
>
    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e5c4f5e55663e793a3001901a8fc775355b5090ae4ef653d190014ee553ca901a8fc756e072797f5153d15e03300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200036002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc87a25e55986f793a3001901a904e96fb5b5090f54ef650b390014ee553ca57287db2969b7db28def4e0a767c5e03300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200036002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ENU (Use these settings to create Adobe PDF documents best suited for on-screen display, e-mail, and the Internet.  Created PDF documents can be opened with Acrobat and Adobe Reader 6.0 and later.)
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>
>
    /HRV <>
    /HUN <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020d654ba740020d45cc2dc002c0020c804c7900020ba54c77c002c0020c778d130b137c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200036002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor weergave op een beeldscherm, e-mail en internet. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 6.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /BleedOffset [
        0
        0
        0
        0
      ]
      /ConvertColors /ConvertToRGB
      /DestinationProfileName (sRGB IEC61966-2.1)
      /DestinationProfileSelector /UseName
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MarksOffset 6
      /MarksWeight 0.250000
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PageMarksFile /RomanDefault
      /PreserveEditing false
      /UntaggedCMYKHandling /UseDocumentProfile
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [600 600]
  /PageSize [612.000 792.000]
>> setpagedevice


